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QUESTION 1

Which three statements describe the Transmission Control Protocol (TCP)? (Choose three.) 

A. TCP is a transport layer protocol. 

B. TCP is faster than the User Datagram Protocol (UDP). 

C. TCP provides delivery notification and error-checking mechanisms. 

D. TCP uses a best-effort delivery approach. 

E. TCP application examples include HTTP and SMTP. 

Correct Answer: ACE 

 

 

QUESTION 2

You are attempting to upgrade the Junos OS on your device, but there is not enough space to complete the upgrade.
Which parameter, added to the request system software add command, would solve the problem? 

A. no-validate 

B. no-copy 

C. validate 

D. force 

Correct Answer: B 

 

QUESTION 3

You have configure an SRX Series device for the first time. When you commit your configuration, the Junos OS notifies
you that you cannot yet commit your configuration. Which configuration step must you complete? 

A. security policies 

B. hostname 

C. date/time 

D. root authentication 

Correct Answer: D 

 

QUESTION 4

JN0-104 VCE Dumps | JN0-104 Study Guide | JN0-104 Braindumps                                2 / 6

https://www.passapply.com/jn0-104.html
https://www.passapply.com/jn0-104.html
https://www.passapply.com/jn0-104.html


https://www.passapply.com/jn0-104.html
2024 Latest passapply JN0-104 PDF and VCE dumps Download

Referring to the exhibit, what will be the result? 

A. The device will boot in single-user mode at the operational prompt. 

B. The device will boot into single-user mode at the shell prompt. 

C. The device will boot into multi-user mode at the shell prompt. 

D. The device will boot in multi-user mode at the configuration prompt. 

Correct Answer: C 

 

QUESTION 5

While working on a Junos device, you receive the message shown in the exhibit. 

In this scenario, what should you do to stop the shutdown process? In this scenario, what should you do to stop the
shutdown process? 

A. Issue the request system halt in 0 command 

B. Issue the request system power-off in 0 command 

C. Issue the clear system reboot command 

D. Issue the clear system commit command 

Correct Answer: C 

https://www.juniper.net/documentation/en_US/junos/topics/reference/command- summary/clear-system- reboot.html 

 

QUESTION 6

Which command allows you to execute operational mode commands while in configuration mode? 
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A. activate 

B. show 

C. run 

D. set 

Correct Answer: C 

https://help.ui.com/hc/en-us/articles/204960094-EdgeRouter-Configuration-and-Operational-
Mode#:~:text=If%20you%20wish%20to%20run,Mode%2C%20use%20the%20run%20com mand. If you wish to run an
Operational Mode command from while in Configuration Mode, use the run command.
https://www.juniper.net/documentation/en_US/src4.10/topics/task/operational/cli-modes- switching.html 

 

QUESTION 7

Which two statements are correct about the request system zeroize local command? (Choose two.) 

A. The command preserves the management interface addresses. 

B. The command resets all key values. 

C. The command removes all data files. 

D. The command removes all user-created files from the system. 

Correct Answer: BD 

 

QUESTION 8

Which command verifies configuration syntax without applying the changes? 

A. commit and -quit 

B. commit check 

C. commit comment 

D. commit confirmed 

Correct Answer: B 

 

QUESTION 9

A BGP route does not match any term within a routing policy applied to BGP. Which action is taken by the router for this
route? 

A. It discards the route by the implicit `discard all\\' at the end of the policy. 

B. It advertises the route according to BGP rules. 
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C. It discards the route by the default routing protocols policy. 

D. It discards the route because it is unable to match the route to a configured action. 

Correct Answer: B 

 

QUESTION 10

Which three protocols are connectionless? (Choose three.) 

A. ICMP 

B. Telnet 

C. SSH 

D. TFTP 

E. DNS 

Correct Answer: ADE 

 

QUESTION 11

Which protocol family is required prior to assigning an IP address to an interface? 

A. ip 

B. ip6 

C. inet 

D. inet4 

Correct Answer: C 

 

QUESTION 12

When you choose to read your e-mail using an e-mail client, your e-mail client interacts with which OSI layer? 

A. presentation 

B. transport 

C. application 

D. session 

Correct Answer: B 
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QUESTION 13

You have enabled trace options to log error messages. You want to have the messages displayed to your terminal
session automatically as they occur. 

Which command should you use in this scenario? 

A. request message terminal 

B. file show 

C. file list 

D. monitor start 

Correct Answer: D 

 

QUESTION 14

Which system-defined user class is able to perform all operations on a device? 

A. operator 

B. authorized 

C. read-write 

D. super-user 

Correct Answer: D 

 

QUESTION 15

You are in configuration mode at the top of the hierarchy. How would you save your configuration to a file on the
router? 

A. save configuration  

B. save config  

C. save  

D. save run  

Correct Answer: C 
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